


Orienteering – Primary School Level 
Lough Key Forest Park 
 
 
Your Name 
 

 
 
 
 
Today’s Date 
 
 
 
 
 
 

 
 
 
There are 9 controls for you to find on this Eco trail 

 



Control Point 1 – Ice House 
 
At this control you can see an ice house. Ice houses were originally invented in 
Persia in order to store ice throughout the year. In Ireland they were usually 
associated with houses attached to large estates and had other uses.  
 
 

1. Can you name one  perishable food stored in ice houses. 
 

2. What invention made ice houses obsolete .  
 

3. Why was the ice house built underground. 
 
 

 
Answer: Each worth 5 points. 
 
 

1. ___________________ 
 
 

2. ___________________ 
 
 

3. ___________________ 
 
 
 

 
 
 
 
 
 



 
 
 
Control Point 2 – Jetty 
 
A jetty is a place used to tie up boats and cruisers . A look at the old ordinance 
survey maps indicate a landing place for boats was here for over a hundred 
years. Along the lake edge you will find trees that are able to tolerate wet 
conditions . 
 

1. What is the name of the lake beside this control point . 
 
 

2. What is the vegetation growing on the ground beside the control . It also 
climbs up the trunk of trees.  

 
3. Across the path from control is a tree  the branches of which are used as 

a Christmas decoration. What is it . Clue, it has red berries. 
 
Answers : Each worth 5 points. 
 
 

1. ___________________ 
 
 

2. ___________________ 
 
 

3. ___________________ 
 



Control Point 3 – Unusual Tree Species 
 
 
Within a few metres of this control point is a very tall tree with an unusual 
pattern of spreading branches .This is a non native conifer tree . Non-native 
species come from another country or climate and they are not natural to the 
area they have been introduced to. This is a western red cedar tree from the 
west coast of north America .  
 

1. Why is there no growth under the tree. 
 

2. What has happened to the lower branches over time making the tree so 
wide. 

 
3. This is a conifer tree . What does the word “conifer” mean. 

 
Answer: Each worth 5 points. 
 

1. _______________________ 

 

2. _______________________ 

 

3. _______________________ 

 
 
 
 

 



Control Point 4  - Fairy Bridge 
 
This stone bridge was built many years ago from local stone. This is often 
called a hump backed bridge because it had to be constructed that way to 
carry the load . Steel and concrete beams are now used and bridges can be 
built on the flat. 
Have a look at the pattern of stonework and the time it must have taken to 
construct the bridge without the aid of diggers or tractors . 
 

1. Is the bridge crossing over a river or canal. 
 

2. Can you find when the bridge was built? (have a good look) 
 

3. The climate is having an effect on the stone pillars of the bridge. In what 
way? 

 
Answers: Each worth 5 points. 
 

1. _______________________ 

 

2. _______________________ 

 

3. _______________________ 

 
              
 
 

 
 
 



Control Point 5 – Habitat 
 
A habitat is a place where a plant or animal lives, this is a woodland habitat.  
What plants and animals do you think live here?  Some you will be able to see 
and some you will only be able to see traces of. 
 
Can you list three living things that live in this forest habitat?  You will score 
five points for each answer, but remember that you might be asked what 
animal and plant traces you saw! 
 

 
 

 
 

 
 
 
 
 

 
Example: Bat 
 
 
Answers: Each worth 5 points. 
 

1. _______________________ 

 

2. _______________________ 

 

3. _______________________ 

 



 
Control Point 6 – Squirrels and their food 
 

     
 
Two different species of squirrel live in Ireland’s woodlands; the native Red 
Squirrel and the larger Grey Squirrel introduced from America.  Numbers of red 
squirrels are rapidly declining in Ireland as the larger and stronger grey 
squirrels steal their food and take over their habitats.  Squirrels like to live in 
conifer forests as pine and spruce seeds (one of their primary foods) are 
available throughout the Winter and contrary to popular belief, squirrels do not 
hibernate. 
Did you know that red squirrels were taken from here in Lough Key and 
carefully brought over to county Mayo to help increase the population. 
 

1. Can you identify what is in this picture underneath?  
 

2. And are you likely to find one on the ground near this control and if not 
why not? 

 
3. Are there  grey squirrels in Lough key forest . 

 

 
 
 
Answers: Each worth 5 points 
 

1. _______________________ 

 

2. _______________________ 

 

3. _______________________ 



Control Point 7 – Tree Root  
 
This tree root when examined can tell us a lot of information about the tree . 
Wide rings are associated with good growth and plenty of light for the canopy 
to maximise the rays of the sun for photosynthesis. 
 

1. By counting the growth rings what does that tell us about the tree. 
 
 

2. A tree root has two main functions Can you name one. 
 
 

3. Was this tree cut down or was it blown over by the wind first. ( clue, 
have a look at the roots) 

 
 
 
 
Answers: Each worth 5 points 
 
 

1. _______________________ 

 

2. _______________________ 

 

3. _______________________ 

 
 
 
 
 
 
 
 
 
 
 
  



Control Point 8 - Tree with Fungus   
 
All of the branches and upper trunk of this tree has blown down in the storms. 
The last large branch blew down in October 2010. This tree was planted 
approximately 180 years ago. You will see fungal growth on the South and 
East sides of the tree.   
 
 

1. What will the fungal growth and other forms of life do to this tree over 
time. 

 
2. About 50 metres away you will see a high viewing tower. This was once 

the location of a big house . Can you find out the name of the house . 
 

3. You have seen a lot of woodland habitats at the different stops along the 
route. What is the habitat near you that is not woodland . 

 
 
Answers: Each worth 5 points 
 
 

1. _______________________ 

 

2. _______________________ 

 

3. _______________________ 

 
 
 

 



Control Point 9 – Coppice tree and  Leave No Trace  
 
This is the root of an old tree with part of the trunk to the side. The new 
growth that has come from the tree is known as coppice growth. 
 
This area is a hive of activity for children, with playgrounds and picnic area. 
Have you heard of leave no trace principles . 
Leave No Trace is an outdoor programme designed to promote and inspire 
responsible recreation in the outdoors through education and awareness.  You 
all know to put your rubbish in a bin, but sometimes people think it’s ok to 
drop certain types of rubbish in the forest and picnic areas like the one close 
by.  Do you know how long it takes for the items pictured below to 
decompose?  Match up the times with the items.   
 
 
 

 
 

 
 

  
 
 
Each correct answer scores 5 points 

 
10-20 
years 

 
3-5 

weeks 
 

 
2-5 

years 
 



 
Scoresheet 
 
 Question Part 1 Part 2 Part 3 Part 4 Part 5 Total 

Q 1 Ice house    

X X 

 
 

15 

Q 2 Jetty    

X X 

 
 

15 

Q 3 Unusual Tree Species  

  X X 

 
 

15 

Q 4 Fairy bridge  

  X X 

 
 

15 

Q 5 Habitat    
X X 

 
 

15 

Q 6 Squirrels   
 X X 

 
 

15 
Q 7 Tree root  

  X X 
 
 

15 
Q 8 Fungus on tree  

  X X 
 
 

15 
Q 9 Leave No Trace    

X X 
 
 

15 
Total        

 
135 

 
 



Primary Answer Sheet 
 
                                          Answers  Total 

Q 1 Ice house Butter  Refrigerator Coldness and 
away from sun 

 
 
15 

Q 2 jetty Lough key ivy Holly 
 
 
15 

Q 3 Unusual Tree 
Species 

1. No sunlight .2 Branches have rooted and 
grown. 3 Cone bearing. 

 
 
15 

Q 4 Fairy Bridge canal 1836. weathering 
 
 
15 

Q 5 Habitat  
 
 
15 

Q 6 Squirrels 
1.Norway spruce Cone. 
2 No Norway spruce trees at this control. 
3. No  

 
 
15 

Q 7 Tree Root  1. Age of the 
tree  

Anchor the 
tree or Absorb 
water from soil 

Blown over by 
wind as roots 
are disturbed 

 
 
15 

Q 8 Tree with 
fungus  

1. Rot and decay the tree.2 Rockingham House .3 
Improved grassland. 

 
15 

Q 9 Leave no 
Trace 

Banana 
= 
3-5 w 

Cigarette 
= 
2-5 y 

Bags 
= 
10-20y 
 

 
 
15 

  

 

 

Total    
 
135. 
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